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2A: 2#F
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J| 200
20 & 200 200 0
J| 200
02322 % HAl 200
-FOREANY FE B2
2,000 1003 200
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202 04| 7,200 7,200 0
| 7,200
01 =LHB] 7,200 7,200 0
J| 7,200
S0i & 7,200 7,200 0
J| 7,200
OEZS FOUXJAANE F=&
3,600,000 x2J4 A~ 7,200
J| 7,200
301 Let8dZ 4,000 4,000 0
J| 4,000
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20 & 4,000 4,000 0
J| 4,000
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J| 31,950
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A E= 2= 2,662,500 x 1 12& 31,950
J| 31,950
FOIX AL 740,735 679,697 61,038
J| 740,735
101 1244| 20,540 20,540 0
J| 20,540
04 JIZHN2E2NSES 20,540 20,540 0
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A SE
B ST (B /MFAT - 2T
SR SEIMEAIY el (=EINEAISELESIH) (& d
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
OEXS UBL=0IXAAIS (SHL! 3HEHo
= SHAL 2,000,000& 2,000
J| 2,000
OEXS UBIF0IXRAIZ (SO0 & o
D) 5,000,000 5,000
J| 5,000
OERlIS UBI=DIT|AANS (LHDIL2H
FHSH AL 3,000,000& 3,000
J| 3,000
307 2120l 530,515 453,803 76,712
J| 530,515
02 CIZIAAAIRE R 530,515 453,803 76,712
J| 530,515
=0 A 530,515 453,803 76,712
J| 530,515
OEt&ls Bt==0IT|2AAIS (2Y9H| E)
12,000,000 12,000
J| 12,000
OIS MNEFOXJAAILS 518,515
-ALREHS A 435,875,000& 435,875
J| 435,875
-1 82,640,000& 82,640
J| 82,640
401 Al&EHIL L0 8,828 30,000 N21,172
J| 8,828
01 Al&HI 8,828 30,000 N21,172
J| 8,828
S0 A 8,828 30,000 N21,172
J| 8,828
OE&lS 80X 3 AL 8,828,000& 8,828
J| 8,828
402 QIZERFE0| A 152,852 148,000 4,852
J| 152,852
02 QIZIXIE2 AL E (0| THL) 152,852 148,000 4,852
J| 152,852
S0 A 152,852 148,000 4,852
J| 152,852
OEt&ls AB==0IXKAIS (SI1EH|I2
2el) 100,448,000& 100,448
J| 100,448
OEXS UBFOITAID (SIIHERY)
52,404,000 52,404
J| 52,404
Q=2 XA 55,000 84,000 229,000
J| 55,000
207 APIHEH] 55,000 84,000 229,000
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Hu: AP (BA/NGAE - 2F)
Cigl: 2EINAAIY ZRI(FEINLALSESIH) (el me
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
J| 55,000
01 AP2=EHH| 55,000 84,000 229,000
J| 55,000
=01l A 55,000 84,000 A29,000
J| 55,000
Oz Al3EHE O|HE It
51,000,000& 51,000
J| 51,000
OL@Ee2e| IEAZAE SLIHE
4,000,000} 4,000
J| 4,000
SHI|ZANE 29 38,721 50,405 A 11,684
J| 33,721
307 QI2H0| & 38,721 50,405 A 11,684
J| 38,721
05 OIZIREZS 38,721 50,405 A 11,684
J| 38,721
S0 A 38,721 50,405 A 11,684
J| 38,721
OsdAE0ISdIEHelAlE ¢ -i—%* [ (504
) 744, 2002 %501 A 38,721
J| 38,721
OlbII (=& EERIAH) 2,000 2,000 0
801 Gibibl 2,000 2,000 0
1 LEHIHI B 2,000 2,000 0
=0 & 2,000 2,000 0
@t:/1=11=]] 2,000,000& 2,000




